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QUESTION 1

The monitor traffic command provides access to which utility?
A. tcpdump

B. telnet

C. traceroute

D. netstat

Correct Answer: A

QUESTION 2

userf@router> show route

inet.0: 1222 destinations, 1525 routes (1222 active,

+ = Active Route, - = Last Active, * = Both
0.0.0.0/0 *[Static/5] 1lw2d 22:59:01

> to 10.10.10.1 via f£xp0.0
10.10.10.0/25 *[Direct/0] 1lw2d 22:59:01

> via fxp0.0
[Direct/0] 1lw2d 22:58:57
> via fxp0.0

10.10.30.7/32 *[Local/0] 1lw2d 22:59:01
Local wvia fxp0.0

10.10.10.9/32 * [Local/0] 1w2d 22:58:57
Local via £xp0.0

10.200.200.0/23 * [Direct/0] 1w2d 22:30:24

> via xe-0/0/3.100
Referring to the exhibit, what does the number inside the square brackets represent?
A. route preference
B. metric
C. protocol reference number
D. local preference

Correct Answer: B

QUESTION 3
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Which layer in the TCP/IP model is responsible for delivering packets to their destination?
A. Application Layer

B. Transport Layer

C. Internet Layer

D. Network Access Layer

Correct Answer: C

QUESTION 4

Which two keystrokes will auto-complete a command? (Choose two.)
A. Esc

B. Tab

C. Spacebar

D. End

Correct Answer: BC

QUESTION 5

What is the default location of the primary syslog file on Junos devices?
A. Ivar/log/

B. lvar/tmp/

C. Ivar/home/

D. /var/db/

Correct Answer: A
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